C:h Function Machines - Creating Equations Name:

Write an equation to show therelationship between theinput and the output. Answers
1 Input | Output 2) Input | Output 3) Input | Output
(a) () (d) (m) (t) (€) L
3 15 22 10 24 6
7 19 14 2 23 5 2
5 17 21 9 25 7
8 20 19 7 27 9 3
6 18 20 8 22 4
4,
4) Input | Output 5) Input | Output 6) Input | Output .
(b) (h) (h) (a) (@) (c) '
54 9 64 8 28 4
24 4 56 7 21 3 o
18 3 48 6 70 10
30 5 80 10 63 9 .
12 2 32 4 42 6
8.
D1 inm | 93] 5] 7 8 | in@e |6|4|8]7 .
Qut(a) | 18| 6| 10 | 14 Qut(u) | 13|11 | 15| 14
10.
11.
12.
| in@r) | 60| 42| 36| 24 10| in@ [23]20]| 28] 27
Out(c) |10 7 | 6 | 4 Qut(n) | 3| 9| 8| 7
M| in@ |10 4] 9] 8 ) inw | 9] 2|88
Out(g) | 18 | 12 | 17 | 16 Out(i) | 45| 10 | 40 | 30

1-10 | 92|83 75|67 [58[50] 4233|2517 |
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C:h Function Machines - Creating Equations Name. Answer Key

Write an equation to show the relationship between the input and the output. Answers
1) Input | Output 2) Input | Output 3) Input | Output a+ 12 :j
(a) () (d) (m) (t) (€) L
3 15 22 10 24 6 _
7 19 14 2 23 5 2 _d-12=m
5 17 21 9 25 7
8 20 19 7 27 9 . __t-18=e
6 18 20 8 22 4 Do
a+12=j d-12=m t-18=e 4 b+6=h
4 Input | Output 5) Input | Output 6) Input | Output . h-8=a
(b) (h) (h) (a) (@) (c) '
54 9 64 8 28 4 a-7=c
24 4 56 7 21 3 °
18 3 48 6 70 10
X /2=
30 5 80 10 63 9 v __hx2=a
12 2 32 4 42 6 7=
b+6:h h+8:a a+7:c 8. e _u
Dl inm) [ o |3]5]7 81 ine | 6] 4|87 . r+6=c
Out(@ | 18| 6 | 10 | 14 OQut(u) | 13| 11| 15| 14
nx2=a e+7=u 10. t-20=n
1172 C+8=¢g
12 ux5b5=i
| in@r) | 60| 42| 36| 24 10| in@ [23]20]| 28] 27
out(c) [10| 7| 6| 4 outm | 3|9 |87
r+6=c t-20=n
M| in@ |10 4] 9] 8 ) inw | 9] 2|88
Out(g) | 18| 12 | 17 | 16 Out (i) | 45| 10 | 40 | 30
c+8=g ux5b=i

1-10 | 92|83 75|67 [58[50] 4233|2517 |
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C:h Function Machines - Creating Equations Name:

Write an equation to show therelationship between theinput and the output. Answers
1 Input | Output 2) Input | Output 3) Input | Output
(a) () (d) (m) (t) (€) L
3 15 22 10 24 6
7 19 14 2 23 5 2
5 17 21 9 25 7
8 20 19 7 27 9 3
6 18 20 8 22 4
4,
4) Input | Output 5) Input | Output 6) Input | Output .
(b) (h) (h) (a) (@) (c) '
54 9 64 8 28 4
24 4 56 7 21 3 o
18 3 48 6 70 10
30 5 80 10 63 9 .
12 2 32 4 42 6
8.
D1 inm | 93] 5] 7 8 | in@e |6|4|8]7 .
Qut(a) | 18| 6| 10 | 14 Qut(u) | 13|11 | 15| 14
10.
11.
12.
| in@r) | 60| 42| 36| 24 10| in@ [23]20]| 28] 27
Out(c) |10 7 | 6 | 4 Qut(n) | 3| 9| 8| 7
M| in@ |10 4] 9] 8 ) inw | 9] 2|88
Out(g) | 18 | 12 | 17 | 16 Out(i) | 45| 10 | 40 | 30
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